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Instructions for the examination

.Uy gF & 1T W e @1 4mT -1 7 Sl Uy & uy € IR MR -2 B [ SIRREddl &yl

3fep-T1fore 9 &) fRedl & 20-20 3iH1 & UY T

HIT -1 3R HT-2 1 # 3ifedige YR 3R URURS vy ¢

Question paper is divided in two Parts, Part-1 consists of question on English
language and Part-2 consists of questions of two parts of general awareness,
athematic each of 20 Marks.

Both Part-I and Part-1I consists of object type and conventional questions.

. Uy U g 100 Hd #1 R aur wwg AW 3 Her g

Question Paper is of Total=100 Marks and Three Hours

L UY UF BT HE -1 el MY O aur 30 e el vy W € 23 ® aur vm-2 & gy sl

ayr R A 8 aur b I R aur oSl RAsnwwa g |
The part -I of question paper is in on English language and solved in
English language only and Part-II is both in English as well as in Hindi
and can be answered in either English or Hindi.

. IR ket F it sguh o # wie aR R S

Unused Pages of answer sheet must be crossed.

uden we W Aaga/Papaey/IoR SO aF A § aul e oA o wdamdl udlan

" aifoa fed smn |

Mobiles/Calculators/Pagers etc. are not allowed in the exam hall and if found
candidate will be debarred from the exam.

. 3R g W IR e & ormar oo Ml W R

Apart from Answers nothing should be written in answer sheet.
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Time - 3 Hrs. Maximum Marks - 100
¥y - 3 Hel HfUedan dF - 100

Date - 16.07.2018

Written test for the post of Jr.Clerk in Level 2 (PB-I 1900 GP) against 16 2/3% LDCE
quota in Pune Division

H-1 (50 3
Part-1 (50 Marks)

Q.1 Read the following comprehensive paragraph and answer 05 marks
all 05 questions mentions below -

Indian Railways is the biggest Government institution of India which gives more
than 17 Lakh people employment. Indian Railways is the biggest railway system of
Asia and the second biggest railway system of the world. In India the first train was
run between Mumbai and Thane IN 1853. During the freedom struggle the freedom
fighters apposed the extension of railway network in the country because the
railway system used by the Britishers for fulfilling and their interests were in the
exploitation of India their own interests. After independence there is a new chapter
started in the development of Railway Government of India established its separate
Ministry of Railways. The total responsibility of Railways is on the Ministry of
Railways.
|

The State Government have no authority to interfere in Railway Network. From the
time of independence the developing process of Railways is very rapidly moving now
the old coal engines are almost finished and Diesel and electric engines are using
and the Government is determinate to replace all diesel engines with electric
engines. Railway is regularly working for giving the good facilities of their
Passengers. Government of India established a separate Paramilitary Force 2 8 = o
(Railway Protection Force). The main working of R.P.F. is to protect the property and
passengers of the Railway. The jawans of R.P.F. are always travelled with express
trains and mails. Railway has its different telephone department which is totally
different from Department of Telecom, Government of India.

Railway provides Residence and Medical Aid to their employees. We easily see a
residential colony and a dispensary near every Railway Station. There are almost
7,500 small and big Railway Stations in India. Railway is also help the Indian people
ih their trade almost 30-40% goods are carried by Railway in different parts of
dountry.

a) When is the first train run in India?

b) Which ministry handle the Railways in India?

c) What is the man responsibilities and task of Railway

protection force in railways?
d) How many Railways stations are there in India ?
e) Which railway is biggest railway in asia and second biggest

in world.
Q.2 Match the following sentences w.r.t. to type of tenses 05 marks
You had eaten your food Future Tense
He has been playing since morning Past Perfect Tense
1 shall drive the car Future continuous tense
He will be going for dinner in night. Past Tense
She went to school yesterday in heavy rain. Past perfect Tense
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Q.3

-

Q.7

(

NI B |

Write an essay in 100-150 words on any of the following 10 marks
topics

a) Environment and climate change

b) Child labour

c) Swachh Bharat Mission

d) Women Empowerment

e) Democracy in India

Write the full form of any 10 of the following - : 10 marks
a) IRCTC b) CCL
c) HOER d) FA&CAO
e) MACP f) LWP
g) ADME h) IRCON
i) PNM j) RELHS
k) LHAP 1) PREM
m) PTO n) PCPO

Fill in the blanks - Chose the appropriate verb against each 05 marks

‘sentence mentioned below -

a) The small child does whatever his father (as done, had done, did)

b) Nile is river of the world. (long, longest, longer).

c) Ram 25t next birthday (shall be, will be, am)

d) Geeta_______ playing badminton from past 7 years (has been, had been)

e) The man to I sold my house was a cheat.(who, whom)

Suppose your department has done outstanding commendable 10 marks
work in particular year. Draft a letter write to DRM of the Division

requesting rewards and appreciation for the said outstanding work

for your department.

OR

Write a letter to Municipal corporation of India for describing the
conditions of the roads in your locality.

Choose any one correct synonym for the below mentioned 05 marks
English words.

1) Naive
a) Cunning, b) Simple, ¢) Naughty d) None

2) Transparent
a) Opaque, b) Ocular, c) clear d) Mirror

3) Permission
a) Sanction, b) Request, C) Advice, d) None

4 Alert
a) Energetic , b)observant , c)Intelligent , d) Watchful

]

5)Distant
a) Far , b) Removed , c) Reserved , d) Separate
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HI-2 (50 $id)
Part-2 (50 Marks)

H) AT ANRSHIT
a)General awareness

Fraferfad 20 wal & forg wdt ar o R ' 20 3
Write true or false of following 20 questions ’ 20 marks
1. Pt amgefl spfan g

10.

35 [

12,

133

Suspension is the minor penalty.

wmwmmwﬂmm@aﬂo a1 @1 @ 331 T 2

A railway employee can avail 30 days of APL in a particular Year.

I st 9k 39 ggrsh diom g dlg, WHR GR1 Y 2010 W IR~ F ) o
Beti bachayo and beti padayo scheme launched in 2010 by UPA government.

1maﬂﬁﬂwaman=rmmﬁnfm&mw%ﬁmaﬁmwﬁﬂmﬁﬁ%r

In India, a new state has been formed named telangana whose capital is
Amravati,

WRT & 7GR 39 WA 1 A A 5R gu R

In India, there are 7 neighbouring countries touching India border,

IR @) STyl W & a1 & R dsdla sifa s R 2

Central bureau of investigation in India is responsible for safeguarding
international border of India.

: mﬁmwwaﬁn%ﬁamm%%ﬂmmm%;

Privileged pass can be used for travelling on duty.

ﬁgmw@mmm%aﬁﬂimﬂm%l

Largest production of wheat occurs in northern belt of India.

mﬁu%ﬁﬁ&dﬂmmm«r{wﬁmmm

Maximum revenue in Indian railways is generated from passenger
reservation.

HIRETY e Ry g e 3 sty o @ of dau CEG IR

Indian railway department is also look after the national highways across
India.

Wwﬂwwﬁﬂ@aaf%w&%a?wzﬂm%l

Cyclone in Arabian sea occur due to very high heat/temp in sea.

mﬁiﬂaﬂwmﬁrﬁhﬁmmmﬁﬂﬁaﬂwmaﬁﬂ%%ﬂﬂmwmﬁ
TG XA & ferg Rmer )

Commercial department of Indian railways is responsible for maintaining
punctuality and running trains on time.

U X @A AR O AR qR1 /S & e w g @2 gE v ¥ R
THER 8

A Railway employee is entitled for LTA (Leave traveling allowance) in place
of Pass/PTO once in a year,
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14, SIS A YR Yd H1 17 91309 81

Kolkata metro is 17" Zone of Indian railway.

15. 8l gun due @) snewRe wmr g

* Hindi is official language of our parliament.

16. ¥Rd A gete ¢ afdior &) Reeh-aa wnf & e gl @ A w2 ok @ 99 g
Frnfea faar smgm
Bullet train project in India is sanctioned between Delhi-Chennai route and
will be executed by China. .

17. Ylla Yo § uee Bif 4. 5 ue @) wif 8

SF-5 is a major penalty in Indian railways.

18. 79 gt 21 & SRemie / g & g, .o gy, wR W ggare 3 ol 2
For derailment/accident of mail express trains, Enquiry is being held at CRS
level, -

{ 19.?ﬁmﬂﬁﬁ€ﬂﬁwaﬂfa$mﬁﬁmqiwmmaﬂ?aﬁmqﬂmmw
|

y SECR and SER railways are major railways for generation revenue from
T freight corridor in railways.

1 20. <) Raw &Y Ui 14 S[aTS &) w=wr o 8
Hindi day is celebrated on 14 July every year.

W2  Geld USR H1 auf &Y S ad dard) s Aar & SE v IS wwd 5 s
Q2 ®I 5 marks

a) Describe the type of leaves, railway employees can avail during
his / her service,

b)  Yord A &) ol Va1 & IREA yeE e u RtE gy /7 didsh it 5 3
qufq HY | 5 marks
List out the various pass/PTO provided to railway employee
during his/her service.

OR
N\ w2 @A e & wa @, o s Tar & R R v &) A Feran 3 10 3i®
Q.2 10 marks
@) sfamfora 20*2 3f
B)Arithmetic 20*2 marks
T Fy wwransil &) ga & iR e Sfcafaa A & ud) Reet &1 90 w5

Solve the following problems and choose correct options as mentioned below:

U1 ygel 2, 5, 9, 17, 33 ... &I 31l HE0 Fagy
Q.1. Next number of the series 2, 5, 9, 17, 33 ....
a) 39 B) 40
c) 52 D) 65

U2 TEA TTH THTA FZAT FT T07 F47 8 7

0.2 The sum of first five prime number is
a)lil B) 26
c)18 D) 28
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Q.3

U4
Q.4

us
Q.5

u6
Q.6

W7

us
Q.8

U9
Q.9

9.10
Q.10

U el | 4/9 BT dSd 81 125 Tefyi §1 g fhan asd 7

In a school 4/9 of the pupils are boys. There are 125 girls. How many boys are

there?
a) 120 b)100 e
c) 150 D) 110

afd gt = 3: 4 st A = 5: 6, @S
If A:B = 3:4 and B:C = 5:6, find A:C?
a) 5:8 B) 4:5
c) 8:9 D) None of the above

Wpel H 500 13 8131 A 100 998 Wl 314 8, 200 Wigfhad A 3 ® 3R arl WA 3 T
R A fpan ufowra o3 ama €2
There are 500 students in a school. 100 of them come to school by bus, 200 come
by bicycle and the rest by foot. What percent students come by foot?

a) 20% B) 40%

c) 52% D) 10%

3fE 3R Goilal U |1y &TH T & IR 8 RFl A &t e da €1 3w s g8 12 R av
ehal ¢ | Grla ol d T deA 1 fhad 3 s

. Anil and Sunil work together and finish a work in 8 days. Anil alone can do it in 12

days. How many days will Sunil take to finish the work alone?
a) 24 B) 6
(e i 1) D) 20

125tﬁ777r:ﬁ==rwanﬂhwrmmtrm=m&3, i1 5 forft / sz o geft From % s & e

| e amar it g, A AR i

A train 125 m long passes a man, running at 5 km/hr in the same direction in which b
the train is going, in 10 seconds. The speed of the train is:
A)45kmph b)30kmph
c)59kmph d)50kmph

U DR gl 18 Hiex dey ok 2 wiex 951 81 afe g¥a @1 1ifm W v aRve #) 50 / -
& gfd gririter ) 9 Q W S 81, FRAS $1 §e arra a1 @2

One rectangular hall is"'18 mtrs long and 2 mtrs wide. If a carpet is to be spread on
the floor of the hall at a rate of Rs. 50/- per sgm., what is the total cost of the
carpet? :

a)1500 Rs . b)1800 Rs.
c)1000Rs d)1200 Rs.
ATt | AT ATHAT A sif

Choose the figure which is different from the rest.

sl sl kel

(1) (2) (3} &) (35)
a)l b)2
c)3 d)4
e)s

oTH 4700 FTF | T AT FLE7 FHAAT § a4r T 9w o7 800 wWT @F Fwar g 477 77 5800

T FT AAT 81 AT 3w e afworT 27 .
Sham buys an old scooter for Rs. 4700 and spends Rs. 800 on its repairs. If he sells

the scooter for Rs. 5800, his gain percent is?

a)32/7% b)60/11%

c)10% d)12%
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